
LAND ROVER 90/110 (NOT COUNTY) (1983 >)

TDG-1003

DOG GUARD / GRILLE PROTECTRICE POUR CHIEN / HUNDEGITTER /
RIPARO PER CANI / DEFENSA PARA PERROS / HONDEREK

FITTING INSTRUCTION / INSTRUCTION DE MONTAGE / EINBAUANLEITUNG /
ISTRUZIONI PER L’USO / INSTRUCCIONES DE MONTAJE / MONTAGEHANDLEIDING

TDG-1543-FI 1 of 2 Iss 1

 Check kit contents against parts list below
 Read instructions fully before fitting guard

 Attach mounting feet (B) to dog guard (A) using thumbscrews (H) - refer to illustration overleaf
 Attach grey plastic sleeve (L) - refer to illustration overleaf
 Tilt and slide front seat
 Pass guard into vehicle making sure the mounting feet are anchored forward and resting on top of the

bulkhead
 Making sure the guard is centralised, mark the rivet heads that are visible through the slots in the

mounting feet
 Remove guard from vehicle
 Drill out the marked rivets using a 9mm (11/32”) diameter drill
 Attach top bracket (J) onto locating tab on the top of the guard, making sure the angled face is rearwards
 Pass guard into vehicle and mount into vehicle using supplied fixings - refer to illustration overleaf
 Tighten all fixings
 Lift top bracket (J) until it contacts the headlining and mark 2 holes
 Drill through the headlining and roof channel using a 4.0mm diameter drill - TAKE CARE NOT TO DRILL

THROUGH ROOF
 Fasten top bracket into position using self tapping screws (K)

NOTE: If an alarm is fitted, the sensor in the headlining must be moved. Locate aperture behind headlining
approx 70mm up and 130mm forward of current position. Relocate sensor.

Parts list

A 1 Dog guard
B 2 Mounting foot
C 2 Stiffener plate
D 4 M8 set screw
E 4 M8 nut
F 8 M8 flat washer
G 4 M8 spring washer
H 2 M8 thumbscrew
J 1 Top bracket
K 2 No. 10 self tapping screw      (discard on pre-1989 models)
L 1 Grey plastic sleeve
M 2 Black plastic tube inserts



LAND ROVER 90/110 (NOT COUNTY) (1983 >)

TDG-1003

DOG GUARD / GRILLE PROTECTRICE POUR CHIEN / HUNDEGITTER /
RIPARO PER CANI / DEFENSA PARA PERROS / HONDEREK

FITTING INSTRUCTION / INSTRUCTION DE MONTAGE / EINBAUANLEITUNG /
ISTRUZIONI PER L’USO / INSTRUCCIONES DE MONTAJE / MONTAGEHANDLEIDING

TDG-1543-FI 2 of 2 Iss 1


